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2022
M.A (Economics) First Semester
MAECQ-102; Macro Economics — |
(In all mediums)

Time allowed: 3 Hours Max. Marks: 80

NOTE:
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VI
VIIL.

VIIL
X

Attempt five questions in all, including Question No. { which is compulsory and
selecting one question from each Unit.
X-X-X
Answer any ten of the following:-
a) Derive Keynesian supply curve of labor.
b) Define full employment.
c) What is meant by money illusion?
d) What is the relationship between bond prices and rate of interest?
e) What is consumption under uncertainty?
f) Mention Tobin’s Q-Ratio.
g) What is consumption puzzle?
h) Discuss consumption and risky asset.
1) Write properties of Keynesian consumption function.
i) What are components of User’s cost?
k) Distinguish between kinked and fixed adjustment costs.
1)  Throw light on stock-adjustment model.
m) Explain time lags in flexible accelerator.
n) Mention implications of quality theory of money.
0) What is importance of money supply in macro economics? (102}
UNIT -1

Discuss classical and Keynesian views on demand and supply of labour and
automatic full employment. (15)

Explain the basic Keynesian model of income, employment and output

determination. How does it differ from classical model? (15)

UNIT — I
Discuss life cycle hypothesis of consumption. What are its limitations and also
explain its differences with permanent income hypothesis. (15)

Examine relative income hypothesis of consumption function and explain how far it

is better than absolute income hypothesis. (15)
UNIT - 111

Critically evaluate the naive accelerator theory of investment. (15)

Discuss in detail Keynesian theory of investment. (15)
UNIT -1V

Analyse Friedman’s restatement of quantity theory of money. (15)

Write a detailed note on money multiplier and determinants of money supply. (13)

X-X-X
(Hindi and Punjabi versions enclosed)
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